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SAMPLE QUESTIONS

A. For questions 1-24, choose the correct option to fill each space. (1 pt. each)
1. We are totally opposed …………………….. any changes being made in the proposals as they stand.

a) of       

b) against
    
 c) towards     
 
d) to
2. The new government’s attempts to _______ the youth crime in the streets unfortunately did not bring positive results.

a) advent

b) devote

c) generate

d) abolish 
3.  Although in the past tobacco …………………….. of as medicine, today it …………………….. to be  harmful to your health.

a) was thought/ is known


c) had been thought/ knows

b) has been thought/ is known


d) thought/ has been known

…

B. For questions 25- 36, read the text below and find the BEST answer.  (2 pts. each) 
Public libraries, maintained by local authorities, are well-developed and progressive, and everywhere allow people to borrow books without charge. The books in the lending section are always kept on open shelves, and library staff is very helpful in getting books on request from other libraries through the exchange system. Most libraries report an increase in borrowing over the past few years, so television does not seem to have stopped people from reading, as it was feared that it would.

25. It is explained in the passage that any book that is not available in one library  ______ .

a) won’t be available at any library 

b) can be brought from another

c) discourages people from using libraries
d) should be reported to the librarian

26. As emphasized in the passage, people nowadays _____________ .

a) prefer entertaining programs to reading

b) complain a great deal about the poor service libraries offer

c) read a lot but don’t use libraries much

d) are using public libraries more frequently than they used to

27. The passage gives us the impression that public libraries ____________ .

a) are working extremely efficiently at present

b) aren’t any longer receiving any financial support from local authorities

c) do not cooperate with each other at all

d) are understaffed and poorly equipped

D. For questions 37 – 46, read the text and choose the correct option to fill each space.   (1 pt. each)
FORESTS

In spite of all the warnings, we are still not looking after our planet. Look what is happening to our forests. We are cutting them (37)……… at an alarming rate. If we keep (38)……… doing this, many animals and plants (39)……… extinct by the start of the next century. Rare species such as the mountain gorilla are already in danger. If we don’t take precautions, more will follow.

Forests are important for another reason, (40)……… .They help to slow the rate of global warming. Trees soak up gases (41)……… carbon dioxide, which are given (42) ……… by power stations and factories. Producing oxygen, they are the lungs of the world.
…
37. a) down                        
b) in                         
c) off                         
d) over

 38. a) in                               
b) on                         
c) up                         
d) at

 39. a) are becoming          
b) become               
c) have become      
d) will have become

 40. a) especially                 
b) too                       
c) yet                         
d) again

 41. a) as                               b) for                        
c) like                        
d) how

 42. a) through                     
b) out                       
c) over                      
d) up

E. For questions 47–50, choose the option that is the CLOSEST in meaning to the given sentence. (1 pt. each)
47. It is not fair to put all the blame on her; she’s not the only one at fault.

     a) It wouldn’t be right to put the blame on those who, like her, weren’t involved.

     b) She doesn’t deserve to be blamed for everything; there were others involved.

     c) Only the ones who were involved should be punished.

     d) She is the only one to be blamed; all was her fault.

…
F. For questions 51-58, use the text to answer the questions. (2 pts. each)
Packaging: the insane waste of making things to be thrown away

1          To get a chocolate out of a box requires a considerable amount of unpacking: the box has to be taken out of the paper bag in which it arrived; the cellophane* wrapper has to be torn off, the lid opened and the paper removed; the chocolate itself then has to be unwrapped from its own piece of paper. But this insane amount of wrapping is not confined to luxuries. It is now becoming increasingly difficult to buy anything that is not done up in cellophane, polythene, or paper. 

2          The package itself is of no interest to the shopper, who usually throws it away immediately. Useless wrapping accounts for much of the refuse put out by the average London household each week. So why is it done? Some of it, like the cellophane on meat, is necessary, but most of the rest is simply competitive selling. This is absurd. Packaging is using up scarce energy and resources and messing up the environment.

3          Little research is being carried out on the costs of alternative types of packaging. Just how possible is it, for instance, for local authorities to save paper, pulp it, and recycle it as egg-boxes? Would it be cheaper to plant another forest? Paper is the material most used for packaging. 20 million paper bags are apparently used in Great Britain each day - but very little is salvaged.

…
51.  ‘…this insane amount of wrapping is not confined to luxuries’ in paragraph 1 means ……. 


a) not enough wrapping is used for luxuries.


b) more wrapping is used for luxuries than for ordinary products.


c) it is not only for luxury products that too much wrapping is used.


d) the wrapping used for luxury products is unnecessary.

52.  What does ‘ it ’   in paragraph 2 refer to? 

a) shopper

c) refuse


      b) wrapping

d) meat



53.  The ‘local authorities’ in paragraph 3 are ……………..


a) The town Council, or municipality.
c) the police.

      b) the paper manufacturers.
d) the most influential citizens.

…

G. For questions 59-62, find the sentence that does not belong to the paragraph.        (1 pt. each)
59. (I) In order to use language for both spoken and written communication, a learner must have good control of the four language skills. (II) Listening and speaking are required for spoken communication. (III) If you are proficient in your mother tongue, you can successfully learn a second language. (IV) Reading and writing are the important points of written communication.

a) I


b) II


c) III


d) IV

…
H. For questions 63 – 64, choose the main idea for each paragraph. (1.5 pts. each)
63. The history of the martial arts is the subject of much discussion and there are many theories concerning its origins. China, Japan, Korea and India all have strong claims to the beginnings of unarmed combat, while fighting skills were a natural development throughout the world for self-protection. Taekwondo itself began in Korea, a country which has a traditional of martial arts that goes back more than two thousand years.

a) 
People take up Taekwondo for a variety of reasons.

b) 
Taekwondo is a safe activity if you take plenty of care.

c) 
Some people are changing to Taekwondo form of self-defence.

d) 
We are not certain where the art of self-defence began. 

…
J. For questions 73-76 choose the option that best completes the paragraph.               (1 pt. each)
73. The style of our lives is often based on the type of work we do. Some jobs allow for flexible schedules which enable us to take time off to deal with personal or family needs. ................ . Other jobs are quite inflexible. With these we only have evenings and weekends to deal with family needs. But when we go home, work stays at the job site.

a) There is an important disadvantage with this type of work; we often have to take our work .   home with us

b) Naturally, most of us work not only for money but also for position
c) Changes in traditional family roles are slowly having an effect-and usually a negative one-     .   on the work place

d) Actually the average person doesn’t even hope for job satisfaction

…

K. For questions 77-80, in order to have a meaningful paragraph, put the sentences below in the correct order. (1 pt. each)
77.

I) When it was finished they called it the Rendall Library.

II) When he died he left a large sum of money to the town where he was born.

III) John Rendall was quite a famous writer whose works became very popular.

IV) The town used the money to build a new public library. 

a) I - III - IV - II   
b) III - IV - I - II      c) III - II - IV - I   
d) I – II – III - IV     
…
